20z JME - AE/AH

Small Flange Insert — Steel or Stainless

o

Application(d -2 2/)

i
1

1. A=At : Module, Accessary, Component, Autopart, Tuning Part

2. &4l : Cabinet, Door Hinge, Assembly, Latch, Lamp, Antenna

3. X} : Box, PCB Support, Handle, Accessary

4. 7|AH : Control Box, Door Dandle, Accessary, Cover, Panel

5. 7|E} : Ladder, Display Application, Panel, Module 7 Assembly

6. 71= : Door, Pipe, Guard Rail, Lighting, Stand, Frame, Alam System, Signboard, Fence
£5] “EP\E' ool HER gMdst=dl 2 Mex=HE XH

"P" Series &§2MHe| AE 2IME

Thread Size R‘;;‘ge Hole Size|] D F H L P Part Number
M3 x 0.5 0.5 2.0 5.0 4.9 5.8 0.4 8.5 6.3 N3322-03200
M4 x 0.7 0.5 2.0 6.0 5.9 7.0 0.5 10.3 7.2 N3322-04200
M5 x 0.8 0.5 2.5 7.0 6.9 8.0 0.5 12.7 7.0 N3322-05250
M6 x 1.0 0.8 3.0 9.0 8.9 10.0 0.5 15.5 9.5 N3322-06300
M8 x 1.25 0.9 3.0 11.0 10.9 12.0 0.5 17.2 10.2 N3322-08300
M10 x 1.5 1.0 3.0 13.0 12.9 14.0 0.5 23.3 10.8 M3322-10300

"D" Series 2} "P" Series"=3&
(28, AHI 20o|s

23| European standard Size0|o{ & A
So ZEE2tAEH ) HER dMdst=0 2| &2l

2-3




"D" Series E2Mzl 28 AME

Thread Size R(;:Se Hole Size] D F H L P Part Number
M3x05 | 05 15 4.8 4.7 5.8 0.4 8.4 5.9 N1322-03150
Max07 | 05 2.0 6.4 6.3 6.9 0.5 10.3 7.2 N1322-04200
M5x08 | 05 3.0 7.2 7.1 8.0 0.5 12.7 7.0 N1322-05300
MEx1.0 | 08 3.3 9.6 9.5 10.7 0.8 15.5 9.5 N1322-06330
M8x1.25 | 0.9 3.7 106 | 106 1.7 0.8 17.2 10.2 N1322-08370
MIOXx15 | 1.0 3.6 142 | 142 16.2 0.8 23.3 10.8 N1322-10360
MI2x1.75| 1.4 4.0 162 | 16.2 18.2 0.8 25.8 11.6 N1322-12400

"K" Series E2Mz| AE 2IME

Thread Size| _CGMP Hole Size] D F H L P Part Number

Range
Max07 | 05 > 6.8 6.75 7.87 0.48 9.91 7.75 N5322-04200
2 3.3 6.8 6.75 7.87 0.48 9.91 7.75 N5322-04330
M5x08 | 05 3.3 7.6 7.55 8.64 0.51 11.43 8 N5322-05330
3.3 5.7 7.6 7.55 8.64 0.51 11.43 8 N5322-05570
MEx1.0 | 07 4.2 10 9.9 1156 | 053 | 1397 | 965 N5322-06420
42 6.6 10 9.9 1156 | 053 | 1397 | 965 N5322-06660
M8x1.25 | 07 3.8 135 | 13.45 | 15.11 0.58 188 | 11.94 | N5322-08380
3.8 7.9 135 | 13.45 | 15.11 0.58 188 | 11.94 | N5322-08790
MIOXx15 | 07 3.8 135 | 13.45 | 15.11 0.58 188 | 11.94 | N5322-10380
3.8 7.9 135 | 13.45 | 15.11 0.58 188 | 11.94 | Ns5322-10790
SRIERI} Cherstol 5] SME X0 BENOR MolsH T RE
GIME Mo MyHoz G52 wx sl HELlol TRAS Lek FRISH 2Aje| HHES HLst

2-4




